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& AUCO~72hr Cmax Tmax (hr) t1/2 (hr)
(ng - hr/mlL) (ng/mL)
E2HAHEIR24 2.5/1000
N, E ey 2H(5 2| 740| 2 4.00 48 61+
o EE|:LE(6|I-_2:EE)-|)|O7-| 0| Al 118.9+23.7 3.176%x0.692 (2.00~8.00) 3 30
Egif|ds242 .5/1000
Ald | Ye[Od(ZAHYER) 4.00 49,83+
of 118.9+£24.5 3.123+0.605 (2.00~6.00) 916
90% AlZ2|AZk* l0g0.9629~ log0.9409~ ) )
(712 :10g 0.8 ~log 1.25) 1.0343 1.0351

(AUCt, Cmax, t1/2 ; B3l £ BE2HAE Tmax ; SYZ4L(-20), n = 46)
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« H|u@rtet=2| S 2AHEe B 2| 22| 90% A2+t
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HlwHtot= 2IEIole

T AUCO~24hr Cmax
(ug - hr/mL) (ug/mL) Tmax (hr) t1/2 (hr)
EHZ I'Z-”E'l' 22—' 2 5/1 OOO 3 OO
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L . .
E2r| =242 5/1000
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(?I% :10og 0.8 ~ log 1.25) 0.9762 1.1081
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